SHSER ROEREIVEAR—YHE NXFPERE

(XA DER) (Hihz: F-F)
B H S | shiie o8 EREHER
1 REBSINA 3,020 3,020 0
IS 3 B S B 1,500 1,500 0
R SIS B (B B 1,520 1,520 0
2 EZFEUXA 38,847| 52,863| A 14,016
BERARFE 3,734 3,734 0
2EASRES 6,867 6,722 145
BHOSYIVUER 25,000 35,000 A 10,000[#Ea0F1EBOE (2% SMTEERTLE 25,000FH)
REnS N AR — Y HEHETR AT 3,246 7,407| A 4,161
3 RAFHESA(IYSVY) 6,182 6,182 0
4 RABFEFEAEMASRA (YY) 1,000 2,000| A 1,000
5 e -FEMEMA(TIVY) 40,000| 36,500 3,500
6 SIEIRA(X5VY) 210 210 0
7 TVIRERHER (X 5V>) 1,000 1,000 0
8 BEAWEBIABINA 1,600 1,600 0
9 EHLERRERR 7,000 7,000 0
10 RSz EHAA 0 0 0
11 A 30 0 30 | EREIA
12 BiEEREE 751 1,639 A 888 [RAGEREHRDORSEEADREM RALE (Y N —1EF4E 200FH &)
& & 99,640 112,014| A 12,374




(ZH D) (Bfiz: FF)
B H TR | IRagE B ELHRER
1 BRLE 3,734 3,734 0
REE 769 769 0
e 209 209 0
EHE 1,111 1,111 0
BnaE 315 315 0
ERE RO SRR 1,330 1,330 0
2 2EALE 6,867 6,722 145
ke 5,840 5,821 19|EREARISEF36A, RE22 A 2158 A& B
EHE 927 809 118
BnaE 70 62 8
FE e 30 30 0
3 BEVWITYIUVARE 58,472 62.831] A 4,359
L KBNS NE 3,000 4,000] A 1,000
RO NS 0 10,000] A 10,000 |38 30 F-BEGh (SR OB L DI
B A RE 32,000 23,000 9,000|3—AF&E, T =vIaEERE L5
3B 2,400 2,490 A 90
[RERE 2,500 5,000] A 2,500[#E FARE~OX HEBH
EFREE 9,000 7,500 1,500
L E 2,500 2,500 0
BIEE 4,000 4,000 0
=HRERE 3,072 3,341 A 269
TiEE 0 1,000/ A 1,000
4 ENRSVHY—BRNERR—VHER 3,246 7,407 A 4,161
5 BUERSENREEE 7,000 7,000 0
6 MBAR—VE 3,620 2,320 1,300
HBRSHES 600 800 A 200 XBBX S DEER (AN 2 8&/~R4)
BACEZR—YEREE T EEEE 3,020 1,520 1,500 et X HEsE
7 4N — FyL VIR ZAE—V TRV —NERS 200 0 200
3 HaHE 16,501 22,000] A 5,499
BEES 12,700 13,900 A 1,200
ERELEE 2,050 2,250 A 200
WEE 330 330 0
k& 300 620 A 320
EHE 700 1,300 A 600
Bia 221 1,400 A 1,179|R4 Hah—sR=IV)=a—7)
ERE RO E SR 200 500 A 300
EHSHP KOS 0 1,700 A 1,700 Mg AR =Y BAK 5 EH
TiEE 0 0 0
& il 99,640] 112,0141 A 12,374




